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Run 72: 5mm straw (N224)
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Run 72: 5mm straw (N224) 5

o, = f(U) oy = f(o7)
E 20: g 0'32
4 18— % E -
- % 0.25/—
16_— —
= |
- : T
12_— . —
10— o 0.15—
— % o —
8— —
- i 0.1—
61— S o B ]
~ %j( © -]
41— o |
- . %é’ o 0.05—
Oq o) o |
2__ ooooooooooooooooo B I I
- — vy ol
oL | | | | | 1 oL | | 10, | | |
_5.5 _5.4 -5.3 _5.2 5.1 -5 _4.9 _5.4 -5.3 _5.2 5.1 _5 _4.9
U (cm) U (cm)

1. The weighted mean of Coordinate resolution distribution is 136 pm!
2. The best time ‘resolution’ is about 2 ns!
3. -100 ns cut is too rough for the 6mm straws &>



Run 72: 10mm straw (N210)
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Run 72: 10mm straw (N°24) 7
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1. The weighted mean of Coordinate resolution distribution is 150 pm!

2. The best time ‘resolution’ is about 4 ns!
3. Algorithm should be tuned



Run 72: 20mm straw (N26)
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Run 72: 20mm straw (N26) 9
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1. Fit does not converged
2. 20 mm straw looks too ‘noisy’(?)
3. Is it problem of the tube or of the reconstruction?



